Contract Number	Charlie Team	Location / Area Limits
LPCL-91-16	C-91	91 Commuter Park & Ride Lots – Brick

Contractor Name:	Eagle Paving Corp
Contact Person:	
Contact Phone Number:	

	Estimated Contract Value: \$75,000.00						
	A	В	C	D	E	F	G
Line	Operating	Vehicle	Qty.	Hours per	Total Hours	Hourly Rate	Line Item Cost
#	Hours	Vemele		Day	(C x D)	Per Vehicle	(E x F)
1	Regular Time (M-F)	Loaders as specified	1	8	8	\$350.00/hr.	\$2,800.00
2	Regular Time (M-F)	Class 5 Trucks w/Contractor supplied plows and spreaders	1	8	8	\$450.00/hr.	\$3,600.00
3	Total Bid Price for Area (Sum of Lines 1+2) \$6,400.00						

	Shovelers				
		Snow	Total	Hourly	Total
	Operating Hours	Depth	Hours	Rate	Price
	(A)	(B)	(C)	(D)	(C x D)
4	Monday to Friday	<6 inches	16	\$750.00	\$12,000.00
5	Saturday/Sunday/Holiday	<6 inches	8	\$750.00	\$ 6,000.00
6	Monday to Friday	≥6 inches	16	\$750.00	\$12,000.00
7	Saturday/Sunday/Holiday	≥6 inches	8	\$750.00	\$ 6,000.00
8	Total Bid Pric	\$36,000.00			
9		\$42,400.00			

Contract Number	Charlie Team	Location / Area Limits
LPCL-165-16	C-165	165 Commuter Park & Ride Lots – Paramus

Contractor Name:	New Prince Construction Co
Contact Person:	
Contact Phone Number:	

	Estimated Contract Value: \$95,000.00						
	A	В	С	D	E	F	G
Line	Operating	Vehicle	Qty.	Hours	Total Hours	Hourly Rate	Line Item Cost
#	Hours	Vemele	per Day		(C x D)	Per Vehicle	(E x F)
1	Regular Time (M-F)	Loaders as specified	1	8	8	\$300.00/hr.	\$2,400.00
2	Regular Time (M-F) Class 5 Trucks w/Contractor supplied plows and spreaders			8	8	\$200.00/hr.	\$1,600.00
3	Total Bid Price for Area (Sum of Lines 1+2) \$4,000.00						

	Shovelers				
		Snow	Total	Hourly	Total
	Operating Hours (A)	Depth (B)	Hours (C)	Rate (D)	Price (C x D)
4	Monday to Friday	<6 inches	16	\$1,150.00	\$18,400.00
5	Saturday/Sunday/Holiday	<6 inches	8	\$1,200.00	\$ 9,600.00
6	Monday to Friday	≥6 inches	16	\$1,850.00	\$29,600.00
7	Saturday/Sunday/Holiday	≥6 inches	8	\$2,050.00	\$16,400.00
8	Total Bid Pric	74,000.00			
9		\$78,000.00			

Contract Number	Charlie Team	Location / Area Limits
LPCL-105-16	C-105	105 Commuter Park & Ride Lot – Tinton Falls

Contractor Name:	Triple C Nurseries
Contact Person:	
Contact Phone Number:	

	Estimated Contract Value: \$10,500.00						
	A	В	C	D	Е	F	G
Line	Operating	Vehicle	Qty.	Hours	Total Hours	Hourly Rate	Line Item Cost
#	Hours	Venicle		per Day	(C x D)	Per Vehicle	(E x F)
1	Regular Time (M-F)	Loaders as specified	1	8	8	\$298.00/hr.	\$2,384.00
2	Standby Time (M-F)	Loaders as specified	1	2	2	\$147.00/hr.	\$ 294.00
		Total Bid Price for Area (Sum of G)				\$2,678.00	

Contract Number	Charlie Team	Location / Area Limits
LPCL-109-16	C-109	109 Commuter Park & Ride Lots - Lincroft

Contractor Name:	Triple C Nurseries
Contact Person:	
Contact Phone Number:	

	Estimated Contract Value: \$10,500.00							
	A	В	C	D	E	F	G	
Line	Operating Hours	Vehicle	Qty.	Hours	Total Hours	Hourly Rate	Line Item Cost	
#				per Day	(C x D)	Per Vehicle	(E x F)	
1	Regular Time (M-F)	Loaders as specified	1	8	8	\$279.00/hr.	\$2,232.00	
2	Standby Time (M-F)	Loaders as specified	1	2	2	\$138.00/hr.	\$ 276.00	
	Total Bid Price for Area (Sum of G)					\$2,508.00		

Contract Number	Charlie Team	Location / Area Limits
LPCL-153-16	C-153	153 Allwood Rd. Commuter Park & Ride Lots - Clifton

Contractor Name:	Joseph M. Sanzari, Inc.
Contact Person:	
Contact Phone Number:	

	Estimated Contract Value: \$10,500.00							
	A	В	C	D	Е	F	G	
Line	Operating Hours	Vehicle	Qty.	Hours	Total Hours	Hourly Rate	Line Item Cost	
#				per Day	(C x D)	Per Vehicle	(E x F)	
1	Regular Time (M-F)	Loaders as specified	1	8	8	\$300.00/hr.	\$2,400.00	
2	Standby Time (M-F)	Loaders as specified	1	2	2	\$150.00/hr.	\$ 300.00	
	Total Bid Price for Area (Sum of G)				\$2,700.00			